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“Rapid Financing Instrument” and “Rapd
Credit Facility™ are ralated to the proviziomns
of lending by which one of the following 7

ta)  Asian Development Bank
ih}  International Monetary Fund

fe} United Nations Environment
Programme Finance Initintive

(d}y World Bank

With reference to the Indian economy,
consider the following statements :

1, An  incresss in  MNominal Effective
Exchange Rate (NEER) indicates the
appreciation of rupee,

2. An increaze in the Heal Effective
Exchange Rate (REER) indicates an

improvement in trade competitivensas.

3. An increasing trend In domestic
inflation relative to inflation in other
countries is likely to canse an increasing
divergence between NEER and REER.

Which of the above statements are corroct 7
{a) 1and2only
(b}  2and 3 only
(e 1and 3 enly

(d} 1,2and3

(3=A)

With reference to the Indian oconomy,
eongider the following etatements ;

1 If the inflation is too high, Ressrve
Bank of India (RBI is likely to buy
povernment securities,

2. i the rupee is rapidly deprecinting, RBI
is likely to sell dollars in the market,

4. finterest rates in the USA or Eurapean
Union were to fall, that = likely to
induee RBI to buy dollars.

Which of the stotements given above are
correct 7

(a) 1and2only
(b 2 and 3 only
{e) 1and3only
(dl} 1,2and3

With reference to the *“G20 Commen
Framework”, consider the following
statements ;

L. It is an initiative endorsed by the G20
together with the Paris Cluh.

2. [Itis an initiative to support Low Income
Countries with unsustainable debi,

Which of the statements given sbove isfare
vorrect ?

(al 1only
(b) 2only
ic) Bothland?2

(d) Neither 1 nor 2
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With refersnce to the Indian economy, what
are the advantages of “Inflation-Indexed
Bonds (11Bs)™

1.  Government can redoce  the coupon
rates on its borrowing by way of [[Bs.

2. 1IBs provide protection to the investors
from unsertainty regarding inflation.

3. The intercet received as well as capital
gains on ITBe wre not taxable.

Which of the statoments given above are

correct 7

(a} 1and2 only
(b} 2and3 only
{e} 1and3 only
{d} 1,2and3

With reference to foreign-ovned e-commerce
firms operating in India, which of the
following statements iafare correct 7

1. They ean sell their own goods in
eddition to offering their platforms as
market-places,

2. The degree to which they can own big
sellers on their plotforms s mited,

Select the correct answer using the cods given
below :

(a) 1only
(b} 2 only
(e} Both 1and 2

(d} Neither 1 nor 2

(B=A)

Which of the following activitles constituts
real sectorin the sconomy 7

1. Farmers harvesting their crops
2,  Textile mills converting raw cotton intoe

fabrics

3 A commercial bank lending money to a
trading company

4 A corporate body issuing Rupee
Denominated Bonds overseas

Select the correct anawer using the code given
beiow :

{a) 1and2only
fb) 2, 3and4only
fe) 1,8 and 4 only
id) 1,2,3and4

Which one of the following situstions best
reflects “Indirect Transfers" often talked
about in media recently with reference to
India ?

(a} An Indisn company  invesiing in &
foreign enterprise and paying taxes to
the foreign country on the profits
arising out of its investment

(b} A foreign company investing in India
and paying taxes to the country of its
bese an the profits arising out of its
investment

e} An Indian company purchases tangible
pzects in & foreign country and sells
guch assets after their value increases
and transfers the proceeds o [ndia

(dl A forelgn company transfiers shares and
such shareg derive their substantial
villue from assets located in India
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With reference to the expenditure made by an

organisation er @ company, which of the
following statements is’are correct 7

1,  Acquiring new technology is capital
expenditure.

2. Debi finmncing is considered capital
expenditure, while equity financing is
considored revenue expanditurs,

Select the correct answer using the code given
below :

(el 1 only
(b} 2only
(e} Both 1land2

id} Neither 1 nor 2

12

With reference to the Indion economy,

consider the following statements :

1. A ghare of the household financial
pavinge goes towards government
borrowings.

2. Dated securities issued at
miarket-rolated rates in auetions form a
large component of internal debt.

Which of the above statements isfare correct 7

{a) 1only

(b} 2enly

e} Both 1and 2

idy MNeither 1 nor 2

(T-A)

11

Consider the following statements

1.  Pursuant to the réport of H.N, Sanyal
Committes, the Contempt of Courts Act,
1971 was passed.

2. The Constitution of India empowersa the
Bupreme Court and the High Courta to
punish for contempt of themsalves.

3. The Constitution of India defines Ciwvil
Contempt and Criminal Contempt.

4. In India, the Parlinment is vested with
the powers to make laws on Contempt
of Court.

Which of the statements given above iglare
correct 7

(a} 1and?2only

(b) 1,2and 4

(¢} @and4anly

(d) 3Sonly

With reference to India, consider the following

statements ;

1.  Government law officers and legal firms
are recognised as advoeates, but
corporate lawvers and patent attorneys
are excluded from recognition as
advocates,

2. Bar Councils have the power to lay
down  the mles relating to  legal
education and rmecognition of law

colleges.
Which of the statermnents given above isfars
correct 7

(gl lonly

ib} Zonly

fe} Both1and 2
(d) Neither 1 nor 2
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13. Consider the following statements ;

. A Bhilll amending the Constitution
requires a prior recommendation of the
President of India.

2. When a Constitution Amendment Bill |z
presented to the Prezident of India, it is
obhigatory for the President of India to
give hisher aeaent,

4. A Constitution Amendment Bill must be
passed by both the Lok Sabhae and the
fajya Sabha by a special majority and
thers is no provision for joint sitting.

Which of the statementz given ahove are

oorrect 7

i) 1 and 2 only

th) 2 and3 only

(el 1 aind 3 only

iy 1,2and3

14. Consider the following statements :

1. The Constitution of India classifies the
ministers into four ranks viz. Cahinet
Minigter, Minister of State with
Independent Charge, Minister of State
and Deputy Minister,

2  The total number of ministers in the
Union Government, including the Prime
Minister, shall not exeeed 15 percent of
the total number of members in the Lok
Sabha,

Which of the statements given sbove isfare

correct T

fa) 1only

(b} 2 anly

() Bothland?2

(di  MNather 1 por2

YEYH-U-FGT
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Which of the following isfare the exclusive
powerial of Lok Sabha *

1.  Toratify the declaration of Emergency

2. To pass s mobion of no-confidence
pgningt the Couneil of Ministars

3.  Toimpeasch the Pregident of Indin

Salect the correct anawer using the codo given
below :

fa} land2
(b Zanly
e} land3
id)  3only

With reference to anti-defection law in India,
consider the following statements -

L The law gpecifies thal a nominated
legislator cannot join any political party
within gix months of being apprinted to
the House,

2 The law doer npot provide asny
time-frame within which the presiding
ifficer has to decide o defertion case.

Which of the statements given above ig/are
correct 7

{a] 1 only

(b} 2only

(e}  Both 1l and 2
(d} Neither 1 nor 2
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Consider the following statements ;

1.  Attorney General of India and Salicitor
General of India are the only officers of
the Governmenit who are allowed to
participate in the meetings of the
Parliament of India,

2. According to the Constitution of India,
the Attorney General of Indin submits
his resignation when the Government
which appointed him resigns,

Which of the statements given above is/are

eorrect ?

lal lonly
(bl 2 only
fe)  Both 1and 2

id) Neither 1 nor 2

With reference to the writs issued by the
Courts in India, consider the following
stetements :

L. Mandamus will not lie against a private
organisation unless it ia entrusted with
A public duty.

2,  Mandamus will not lie against a
Company even though it may be a
Geovernment Company,

4. Any public minded person can be a
petiticner to move the Court to obtain
the writ of Quo Warranto.

Which of the statements given above sre
worrsct 7

{a) 1and2only
(b 2 and3only
(¢} 1and3donly
(d) 1,2and3

(M-=A)

18, With reference o Ayushman Bharat Digital

Mission, consider the following statements :
1. Private and publie hespitals must adopt it
2. As it alms o achieve universal health

coverage, every citizen of Indis should be
part of it ultimately,

3. It has seamless portability across the
country.

Whith of the statements given above isfare
eorrect 7

in)  land2anly
(b) Sonly

te) 1and3 anly
idd 1, Zand3

With referemce to Deputy Speaker of Lok
Babha, consider the following statements :

1. As per the Rules of Procedurs and
Conduct of Business in Lok Sabha, the
election of Deputy Speaker shall be held
on #uch date as the Speaker may fix.

2. There is n mandatory provision that the
eloction of & candidate as Deputy
Speaker of Lok Babha shall be from
either the principal opposition party or
the ruling party.

4. The Deputy Speaker has the same
power as of the Speaker when presiding
over the sitting of the House and no
appeal lies aguinst his rulings.

4. The well established parlinmentary
practice regarding the appointment of
Deputy Bpenker is that the motion is
moved by the Speaker and duly
seconded by the Prime Miniater.

Which of the statements given above are

correct !

{a] lond3only

(b)) 1,28nd3
fe]l 3 anddonly
(di 2and4only
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Among the following crops, which one is the
most important anthropogenic sguree of both
methane and nitrous axide 7

fal  Cottomn
{41

(¢} Sugorcane
(d} Wheat

“Syetem of Rice Intengification™ of eultivation,
in which alternate wetting and drying of rice
fields is practised, results in

1. Beduced seed requirement

2. Reduced methane production

3. Reduced electricity consumption

Belect the correct answer using the code given
below :

(o) 1and2only

(b] 2and3only

{¢] 1and3only

{di 1,2ond3

Which one of the following lakea of West

Africa has become dry and turned into a
desert

(] Lake Victoria

ib)  Lake Faguibine

(¢) Lauke Oguta

(d) Lake Wolta

Gandileota eanyon of South India was created
b which one of the following rivers T

(a)
(b}

Cauvery
Manjira
g} Pennar

dy Tungabhadra

25, Consider the following pairs :

2.

(13-A)

Feak Mountaing
1. Namcha Barwa — Garhwal Himalayva
2. Nenda Devi — Komaon Himalaya
8. Nokrek — Bikkim Himalaya

Which of the pairs given above isfare correctly
matched T

fa) land?2
bl 2 only
(¢) land3
{d) 3 only

The term “Levant” often heard in the news
roughly corresponda to which of the fallowing

regions 7

{a) Region along the eastern Mediterranean
shaores

ib} Region alomg North African shores
stretching from Egyvpt to Moroeco

icl Region along Persian Gull and Horn of
Africa

id) The entire coastal ATEAa of
Mediterranean Sea

Consider the following countries ;

1. Azerbaijan

2 Kyrgyzstan

3. Tajikistan

4, Turkmenistan

B. Uzbakistan

Which of the above have borders with

Afghanistan ?

{a} 1,2 and5enly

b} 1,2, 3 and 4 only
(ed 3,4 and 5 only
d)y 1,3, 3, 4and5b
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28. With reforonce to India, congider the following
siatements :

L
2.

Monazite is a source of rare earths.
Monazite contains thorium.

Monazite occurs naturally in the entire
Indian constal sends in India.

In India, Government bodies only can

process or export monazite.
Which of the statements given above are
correct 7
{a) 1,2 and 3 only
) 1,2 and 4 only
¢ 3 and4 enly
(dd 1,2, 3and4
29. In the northern hemisphere, the longest day
of the year normally oeecurs in the :
ia)  Pirst half of the month of June
(b} Second half of the manth of June
(¢)  First half of the month of July
{d} Second half of the month of July
80, Consider the following pairs :
Wetland / Lake Location
1. Hokers Wetland — Punjab
2. Renuks Wetland — Himachal Pradesh
3. Rudrasagar Lake — Tripura
4 Sasthamkotta — Tamil Nadu
Lake ]
How many pairs given above are correctly
matchod ¥
{a) Only one pair
(k)  Only two pairs
(e}  Only three pairs
(d} All four pairs
VEYH-U-FGT

31.

[15=A)

Conaider the following :

3.

d.

Aarogya Setu
CoWIN
DrigriLocker
DIKSHA

Which of the sbove are built on top of

open-source digital platforms 7
(a) 1and2only

(b} 2, 3and 4 only

fe} 1,8 and 4 only

(di@ 1,2,3and 4

With mference to Web 30, consider the
following statenents :

L

Web 30 technology enables people to
control their twn dats.

In Web 30 world, there can be
hlockohain bazed social networka.

Web 3:0 i up-al'lﬂ;d by users collectively
rather than a corporation,

Which of the statements given above are

correct ¥

(a) 1and2only
bl  2and3 only
{c} 1and3only
iy 1, Zand3
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With reference o “Software as a Serviee
(SBanS)" consider the following statemoents ;

1, BSan8 buyers can customise the user
interface and can change data fields.

2. Saa8 users can access their data
through their mobile devices,

4. Outlook., Hotmail and Yahoo! Mail are
forms of Spas,

Which of the statements given above are
ecarrect T

(a} 1and 2 only
(b) 2 and 3 only
e} 1and 3 only
idi 1,Z2andd

Which ona of the following statements best
reflecta the idea behind the “Fractional
Orbital Bombsrdment System”™ often talked
about in media ?

(a) A hypersonic missile is launched into
gpace to counter  the asteroid
approsching the Earth and explode it in
IFEI‘.

(b) A spacecraft lands on another planet
after making several orbital motions.

iel A missile is put into a stable orbit
around the Earth and deorbits over a
target on the Earth.

{dl A spacecraft moves along a comet with
the same speed ond places o probo on its
surface.

35. Which one of the following is the context in

av.

(17-A)

which the term “qubit” is mentioned ?

(a} Cloud Services

(b}  Quantum Computing

(¢} Visible Light Communication
Technologies

id}  Wireless Communication Technologies

Conzider  the

technologies :

1.  Closed-circuit Television

2 Radio Frequency Identification

3 Wireless Local Area Network

following communication

Which of the above are considered

Short-Range deviceatechnologies ?

{a) 1andZ2only

(b) 2and3enly

e} 1and3only

(dd 1,Zand3

Consider the fallowing statements

1.  Biofilms can form on medical implants
within human tissues,

2. Biofllms can form on food and food
processing surfaces,

3. Biofilms ean exhibit antibiotie
Tesistance.

Which of the statements given above anre

correct 7
{a) 1land2only
(b} 2and3 only

(€] 1 and3only
(d} 1,2and3
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Congider the following statements in respect

of probiotics :

1.  Probiotica are made of both bacteria and
yeust,

2. The organiems in probiotiss are found in
foods we ingest but they do not

naturally socur in our gut.
3.  Probiotice help in the digestion of milk
BUEATE,

Which of the statements given above is‘are
correct 7

{a) 1only
{b) 2only
fe) 1and3
(d) 2and3

In the context of vaccines manufactured to
prevent COVID-18 pandemic, consider the
following statements

1. The Serum Institute of India produced
COVID-19  vaccine named Cowvishicld

using mENA platfiorm,

2.  Bputnik ¥V vaccine is manufactured using
vector based platform,

4. COVAXIN is an inactivated pathogen
based vaceine,

Which of the ststements given above are
eorrect 7

{a} 1end2aonly

b} - 2and3 only
izl 1 and3only
idf 1,2and3

(18-A)

40. If a major solar storm (solar flare) reaches the

Earth, which of the following are the possible
effects on the Earth 7

1. GPSand navigation systems could fail.

2, Teunamis could occur at equaterial
regions.

3.  Power grids could be damaged.

4, Intenss suroras could oceur over much
of the Earth.

8.  Forest fires could take place over much
of the planet,

i, Cirimts of the satellites would bW
digturhed.

I Shortwave radio sommunication of the
aircreft flying over polar regions could

be interrupted,

Select the correct answer using the cods given
below ;

{a) 1,2, 4and5 only

{b) 2 3 6 6andTonly

(e} 1,3,4,68and7only

{d) 1,2.3,4,5,6and7
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41. “Chmate Action Tracker™ which monitors the

emisgion reduction pledges of different
countries is a:

Database created by
research organisations
Wing of “Internntional Panel of Climate
Change"

Committes  under “United Nations
Framowork Convention on Climate
Change"

Agemey promoted and fnanced by
United Mations Envirenment
Progromme and Weorld Bank

fa) coalition of

th)

L)

(d

Constder the following statementa ;

1.  *The Climate Group® is an international
non-profit  organizetion that doves
climate action by building large
networks and runs them.

2 The Intermational Energy Agency n
partnership with the Climate Group
launched a global initiative "EP100”,

8. EPIO0 brings together leading
companies committed to driving
innovation in energy efficiency and
increasing  competitivenesa  while
delivering on emission reduction goals.

4. Some Indian companies are members of
EFP100.

6.  The International Energy Agency is the
Seeratariat to the "Under? Coalition”,

Which of the ststements given shove are

correct 7

fa) 1,2 4and5

ibl 1,3 and 4 only

te) 2,3 and5only

iddy 1,23 4andf

(21-A)

“If rainforests and tropical forests are the
lungs of the Earth, then surely wetlands
function a8 ita kidnevs.” Which one of the
following functions of wetlands best reflects
the above statement 7

The water cycle in wetlands invalves
purface runoff, subsoil percoletion and
evaporation.,

Algae form the nutrient base upan
which fish, crustacesns, molluscs, birds,
reptiles and mammals thrive.

Wetlands play & wvital role in
maintaining sedimentation balance and
goil stabilization.

ia)

th}

fe)

id) Aguatic plants absorh heavy metals and

excess motrients.

In the context of WHO Air Quality
Guidalines, the following
statements ©

consider

1, The 24-hour mean of PHHI should mt

exceed 16 ppfm:' and annual mean of
PM,.; should not exceed 5 pg/m”,

2 In a year, the highest levels of ozone
pollution oceur during the periods of
inclement weather,

3 PM,. ean penetrate the lung barrier
and enter the bloodsetream.

4,  Excessive ozone in the sir can trigger
asthma.

Which of the statements given above are

correct 7

{n) 1, 8and4
ik 1 and4only
fe) 2,3and4
id} 1 and2only
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sometimes
mantioned in the news, consider the foliowing
sLatements @
1. [iisa fungus,

It grows in some Himalayan forest areas,

4. It is commercially cultivated in the
HJ.mail_ﬂ.n foothills of north-eastern

Which of the statements given above is‘are

correct 7

(a) 1lonmly
) 8 only
(e 1land2
(dd 2and3

With reference to polyethylene terephthalate,
the use of which ia so widespread in our daily
lives, consider the following statements ;

1, [Its fibres can be blended with wool and
cotton fibres to reinforee their properties,

2, Containers made of it can be used to
atore any alooholic boverage.

3. Bottles made of it can be recyveled into
other products,

4. Articles made of it can be easily disposed
of by incineration without ecausing
greenhouse gas emissions.

Which of the statements given above are

correct 7

(a) 1and3
() Z2and4
e} landd
(d} Zand3

Which of the following is no# a bird ?
{al Golden Mahseer

(b}  Indian Nightjar

(e] Speonbill

id} White This

48,

(23-A)

Which of the following are nitrogen-fixing
plants ?

1 Alfalfa

2 Amaranth

3, Chickpen

4, Clover

i Puralane (Kulfa)

& Bpinach

Select the correct answer using the code given
b by

{a) 1,8 andd only
(b) 1,35 and8 only
() 2, 4, 5and6only
(d) 1,2 4, 6andB

“Bioreck technology” is talked about in which

oné of the following situations 7

{a) Restoration of damaged coral reefs

(b} Development of building materinls
using plant residues

(el Identification of Arens
exploration/extraction of shale gas

Providing salt licke for wild animals in
forests’protected areas

for

{d}

The "Mivawaki method™ is well known for
th
{a) Promotion of commercial farming in
Development of gardens using
genetically modified flora

{ed  Creation of mini forests in urban aroas

(d)

ik

Harvesting wind energy on eoastal

areas and on sea surfaces
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In the Government of India Act 1019, the
functions of Provincial Government were
divided inte “Reserved” and “I'ransferred”
subjacts. Which of the fallowing wers traated
as “Reserved” subjects 7

i Administration of Justics

2.  Local Self-Government

3.  Land Revenus

4. Police

Select the correct answer using the code given
bolow ;

m}) 1,2and3
b 2 3andd
fe) 1, 3andd
idy 1,2and4

In medieval India, the term “Fanam™ referred
o

(&) Clothing

{bd  Caoing

ic} Ornaments

idy  Weapons

Consider the following freedom fighters -

1.  Barindra Kumar Ghosh

2. Jogesh Chandrs Chatterjes

3.  Rash Behari Bose

Wha of the above wasiwere actively associated
with the Ghadar Party 7

ia) land2

(b} 2only

te) land3

() 3only

{25 -A)

B4. With reference to the proposals of Cripps

Mission, consider the following statements ;

1, The Constituent Assembly would have
imembers fnormnated by the Provincial
Asstmblies az well as the Princaly
States.

2, Any Province, which is not prepared to
accept the new Constitation would have
the right to aign a separate agreement
with Britain regarding its future status.

Which of the statements given above isinre
correct ¥

fal 1only

{bi Zonly

{e} Bothland?2
id) Neither 1 nor 2

With reference to Indian history, congider the
following texts :

1. Nettipakarana

2,  Parishightaparvan

4.  Avadanashataka

4, Trishashtilakshana Mahapurana

Which of the above are Jains texty 7
fa} 1,2nand3

(b} 2and 4 only

el 1,3nnd4

id) 2,3and4
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With reference to Indian history, congider the
Tollowing pairs :

Historical person ~ Known as
1. Aryadeva —  Jaina scholar
2. Dignags —  Buddhist scholar
3, Nathamuni  — Vaishnava echolar

How many pairs given above are correctly
matched ?

(&) None of the pairs
(b} Only one pair
(e} Only two pairs
(d} Al three pairs

With reference to Indian history, consider the
following statements ;

1 The first Mangol invasion of India
happensd during the reign of Jalal-ud-din
Ehalji.

2, During the reign of Ala-ud-din Khalji, cne
Mongol assault marched up to Delhi and
besieged the city.

3.  Muhammad-bhin-Tughlag tempararily bost
portions of north-weat of his kingdom to
Mongols.

Whach of the statements given above isfare
correct ?

(a) land2
() 2 only
(¢) Iand3
(d) 3 only

(27 -A)

58, With reference to Indian history, who of the

following were known as “Kulah-Daran™ 7
(al  Arab merchants

(b} Qulandars
(¢} Persian calligraphists
(d)  Sayyids

With reference to Indian history, consider the

following statements :

1. 'The Dutch eatablished their
factories'warchouses on the cost cosst
on lands granted to them by Gajapati
rulers.

2. Alfonso de Albuquerque captured Goa
from the Bijapur Sultanate.

3, The English East India Company
established a factory at Madras on &
piot of land lepsed from a representative
of the Vijavanagara empire.

Which of the statements given sbove are
carrect

(a) 1and 2 only
(b} 2and 3 anly
(e} 1and3only
(d) 1,2and3

According to Eautilya's Arthashasfra, which

of tha following are correct 7

1. A person could be a slave as s result of &
Jjudicinl punishment,

2, i afemale slave bore her master a son,
she was legally free.

4 If a son born to & female slave was
fathered by her master, the sen was
entitled to the legal status of the

master's son.
Which of the statements given sbove are
correct T
(a) 1and?2anly
(b} 2 and 3 only
(e} 1and3only
(dl 1.Z2and3
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Consider the following statements
1. Tight monetary policy of US Federal
Ressrve could lead to capital flight,

2. Capital flight may increase the interest
cost of firms with existing External
Commercial Borrowings (ECBs).

3. Devaluation of domestic currency
decreases the currency risk associated
with ECBs,

Which of the statements given above are

correct 7

ia) 1and?2only

(b) 2and3 only

{e] land3 only

id 1.Zand3

Congider the following States ¢
1.  Andhm Pradesh

2. Kerala

3. Himachal Pradesh

4. Tripura

How many of the above are generally koown
s toi-producing States 7

(a} Only one State
bl  Only two States
{c) Only three States
(di Al four States

Consider the following statements
1. In India, eredit rating sgencies are

regulated by Reserve Bank of India.

2. The rating agency popularly known as
ICRA is a public imited company.

4. Brickwork Ratings is an Indian credit
rating agency,

Which of the statements= given above are

correct !

{al 1and2only

ibl 2and 3 only

iel 1and3donly

(dl 1,2and3

(29-A)

64. With reference to the “Banks Board Bureau

(BEBY, which of the following statements are
correct 7

1. The Governor of EBI is the Chairman of
BEB.

g BEB recommends for the selection of
heads for Public Sector Banks.

a. BEB helps the Public Sector Banks in
developing strategies and capital raising
plane.

Solect the correct answer uaing the code given
bedow

ia) 1 andZonly
(b} 2and 3 only
(e} 1 and3only
dy 1,2and3

With reference to Convertible Bonds, consider
the following statementa ;

1. As there is an option to exchange the
bomd for equity, Convertible Bonds pay
a lower rate of interest.

2, The option to convert to sguity afforde

the bondholder & degree of indexation to
Which of the statements given above isfare
correct 7

(a) 1enly

(b) 2 anly
(¢} Both1and2

(d) Neither 1 nor 2
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Consider the following :
1.  Asian Infrastructure Investment Bank
2. Missile Technalogy Contral Regime
3.  Bhanghai Cooperation Organisation
India is & member of which of the above 7

(a] landZ2only

{(b) 3only

(e} 2and3only

d) 1,2and3

Consider the following statemeonts ;

1. Vietnam has been one of the [astest
growing economies in the world in the
recant years.

2. Vietnam is led by 8 multi-party political
¥ stem.

3 Vietnam's economic growth is linked to
its integration with global supply chains
and focus on exporiz.

4  For a long time Vistnam's low lahouor
costs and stable udiang& rates have
sttracted global manufacturers.

6.  Vietnam has the most productive
e-gervice pector in the Indo-Pacific
Tegion.

Which of the statements given above are
correct T

(a) 2andd
(k) 3ands
{ed 1,3amd4
(dl land2

B4,

T0.

(31-A)

In India, which one of the following is

responsible for maintaining price stahility by

controlling inflation ?

{a) Department of Consumer Affairs

(b} Expenditure Management Commission

{e) Pinancial Stability and Development
Council

id) Reserve Bank of India

With reference to Non-Fungible Tokens

{NFTg), consider the following statements :

1. They enable the digital representation
of phivsical nssots,

2. They are unigue cryptographic tokens
that exist on & blockchain,

3. They can be traded or exchanged at
equivalency and therefore can be used
s 1 medinm of commercial
transactions.,

Which of the statements given above are
correct

{al 1and 2only
(b) 2 and 3only
(el 1and 3only
(di 1,2and3
Considar the following pairs -

Reservoirs S alis
1. Ghataprabha — Telangana
2. Gandhi Sagar — Madhya Pradesh
3. Indira Sagar — Andhra Pradesh
4. Maithon —  Chhattisgarh

How many pairs given above are nof correctly
matched ?

ia} Onlyone pair
b} Only two pairs
{e) Only three pairs
(dl Al four pairs
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7. In India, which one of the following compiles | 0y v ider the following statements -
information on industrial disputes, closures, £ A i A
retrenchmants. and lay-offc in  factoriss l. The India Sanitation Gunl:tlml s a
amplovi ki 7 platform to  promote sustainable

sanitation and is funded by the
in} Central Statiatics Office Government of India and the World
ib)  Department for Promotion of Industry Haakth Crganiation.
and Titernal Trade 2.  The National Institute of Urban Affairs
is an apex body of the Ministry of
¢} Labour Bureau Housing and Urban Affairs in
{d) National Technical Manpower Government of India and provides
Information System innovative solutions to address the
challenges of Urban India.
In India, what iz the role of the Coal Which of the statements given above is'are
Controller’s Organization (CCON 7 correct 7
1. CCO i the major sotres of Coal gk g
Statistics in Government of India (b} 2 anly
2 I itors of developm 5 o
5 t maon progress ent of idy Neither
Captive CoalLignite blecks. s s
4. It hears any objection te the|75. Which one of the following has been
Government’s notification relating to congtituted uwnder the Environment
acquisition of coal-bearing areas, {Protection) Act, 1986 7
4. It ensures that coal mining companies (a)  Central Water Commission
deliver the coal to end users in the (b}  Central Ground Water Bomrd
prescribed time: (e} Central Ground Water Authority
Select the correct answer using the code given (d) Natienal Water Development Agency
below ;
{A) 1.2and3 78. With reference to the “United Nations
Credentials Committee”, consider the
ibd 3 and4 only following statements :
(e} 1and2only 1. It is a commitiee set up by the UN
td) 1,2 and4 Security Council and works under its
FUPErVISion.
If & particular ares i brought under the Fifth 2, It eraditio ts in March, J
Schedule of the Constitution of India, which aid Mﬁﬂ var. e
ane of the following statements best reflocts i
g 3. It nssesses the credentials of all UN
the consequence of it i b
: members before submitting a report to
{a)  This would prevent the transfer of land the General Assembly for approval.
of tribal people to non-tribal people. i "
: Which of the statements given above isfare
(b} This would creste a local self-governing correct 7
body in that area. al ¥ant
a .
e} This would convert that area ints a ’
Usion Tarritary. (h) land3
(4) The State having such areas would be L
declared n Special Category State, idl land2
VGYH-U-FGT {33-A)
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T7. Which one of the following statements best
describes the “Polar Code’ ?

()

(h)

(e}

()

Couneil,

78.  With reference to the United Nations General
Assembly, consider the following statements :
1. The UN General Assembly can grant

ohserver status to the non-member
States,

2. Inter-governmental organisstions can
seek observer status in the UN General
Assembly,

3.  Permanent Observers in the UN
Geperal  Assembly can  maintain
missions at the UUN headquarters,

Which of the statements given above are

correct 7

{a) land2only

(b) 9and3 only

fel  1and3 only

(dd 1,2%and3

VGYH-U-FGT

It is the international code of safety for
ships operating in polar waters.

It is the agreement of the countries
arvund the North Pole regarding the
demarcation of their territories in the
polar region.

It is a set of norme to be followed by the
countries whose scientists undertake
research studies in the North Pole and
South Pole.

It is a trade and security agresment of
the member countries of the Arctic

(36 - A}

With reference to the “Tea Board” in India,
consider the following statements :

L
2

The Tea Board is a statutory bedy.

It iz a regulatory body attached to the
Ministry of Agriculture and Farmers
Welfure,

The Tea Board's Head Office is situated
in Bengaluru,

The Board has overseas offices at Dubal
and Moscow,

Which of the statements given above are

corréct 7

(@} land3
{b) 2and4
¢} Jdandd
(d} land4

Which ene of the following best describes the
term “greenwashing” 7

{a)

{h)

{e]

(d}

Conveving a false impression that @
company's products are sco-friendly and
environmentally sound

Non-inelusion of ecological/
environmental ecosts in the Annual
Financial Staternonts of a country

Ignoring  the disastrous ecological

CONBAQUENces while undertaking
infrastructure development

Making mandatory provisions for

environmental costs in a government
praject/programme
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Consider the following statements

1. High clouds primarily reflect solar
radiation and cool the surface of the
Earth,

2, Low clouds have a high absorption of
infrared radiation emanating from the
Earth's surface and thus cause warming
effect,

Which of the statements given above isfare
correct ?

{n) 1 only

(b) 2 only

ic} Bothland2

(d) Meither 1 nor2

Congider the following stetements :

1. Bidibidi is a large refugee settlement in
north-western Kenya,

2.  Some people who fled from South Sudan
civil war live in Bidibidi.

4. BSome people who fled from civil war in
Somalia live in Dadaab refuges complex
in Kenva.

Which of the statements given above isfare

correct ?

(n} land2

(b} 2omly

(e} Zand3

(d}  3Jonly

Consider the following countries ;
1 Armenin

2. Aszerbaijan

B Croatia

4, Romania

. Uzbekistan

Which of the above are members of the
Organization of Turkic States ?
{2l 1, 2andd4

b} land3y

e} Zandh

d) 3 4andB

(3T =A)

Consider the following statements :

L. Gujarat has the langest solar park in
India.

2. Kerala hae n fully eslar
International Airport,

3. Goa has the largest floating solar
photovaltaic project in India.

powared

Which of the slatements given above isfare
correct ¥

(m) Jand2
(b} 2 only
(e} land3
{d) 3only

With reference to the United Nations
Convention on the Law of Sen, consider the

following statements :

1. A coastal state has the right to establish
the breadth of ita territorial sea up to a
limit not exceeding 12 nauticsl miles,
measured from baseline determined in
astordance with the convention.

2.  Ghips of all states, whether eoastal or
land-locked, enjoy the rght of innocent
paseage through the territorial sea.

4.  The Exclusive Economic Zone shall not
extend beyond 200 nauticel miles from
the baseline from which the breadth of
the territorial sea is measured.

Which of the statements given above are
porrect

tal 1and 2only
ib} 2 and 3 only
el 1and3only
d} 1.2and3
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BT.

(&}  Only one pair

(bl  Only twe pairs

(e}  Unly three pairs

idd Al four pairs
VEYH-U-FGT

Which one of the following statements best
reflects the fssue with Senkaku Islands,
somstimes mentioned in the news 7

It iz generally believed that they are
artificial islands made by a country
around South China Sea.

)

(k) China and Japan engage in maritime
disputes over these islands in East
China Sea,

e} A permanent American military base
hag been set up there to holp Taiwan to
increass its defence capabilities.

id)  Though International Court of Justice

declared them as no man's land, some
South-East Asian countries claim them.

Congider the following pairs :

Country Important reason for being
in the news recently
— Betting up of permanent
military basa by China
— Suspension of Constitution
and Government by military
3. Lebanon — Severs and prolonged
economic depression
4. Tunisia — Suspension of Parliament
by President

1. Chad

2, Guinea

Hnwman;rpnlngimuhwanmmmﬂf
matched 7

RS,

(3B-A)

Consider the following paires :

Region often mentioned Coundry
in the news
L Anstalin —  Turkey
2. Amhara —  Ethiopia
3. Cabo Delgado — - Bpain
4. Catalonia —  Tinly

How many palrs given above are correctly
matched ?

(a} Only one pair

(b}  Only two pairs

(e} Only three pairs

(d) Al four pairs

With reference to Indian laws about wildlife

protection, consider the following statements :

1. Wild animals are the scle property of
the gavernment.

2. When a wild animal is declared
protected, such animal is entitled for
equal protection whether it is found in
protected areas or outside,

3.  Apprehension of a protected wild animal
bocoming a danger to homen life is
sufficient ground for its capture or

Which of the statements given shove isfare

eorrect ?

{a} 1and?2
(h)  Zanly
e} lendd

) ‘Fonly

Certain species of which one of the following
organisms are well known ae cultivators of
fangi 7

{a) Ant

(b} Cockmach

(el Crah

{d) Spider
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#l. Consider the following padrs :

Site of Ashoka's Location in the
meafor rock edicks State of
1. Dhauli — Odisha
2. Erragudi — Andhra Pradesh
3. Jaugada — Madhya Pradesh
4, Kalsi = Karnataks
How many pairs given above are correctly
matched ?
(al Onlyone pair
(b}  Owmly two pairs
(e)  Only three pairs
(d)  All four pairs
Consider the following pairs :
King Dynasty
1. Mannuka — Chandala
2 Jayashakti — Paramara
4. MNagsbhata Il — Gurjara-Pratihara
4. Bhaja — Rashtrakuta

How many pairs given above are correctly
matched T

{a)  Only one pair
{b)  Only two pairs
e} Only three pairs
(d) Al four pairs

Which one of the following statements about
Sangam literature in ancient South India is

correct 7

{a}) Bangam poems are devoid of any
referomes to material culture,

(b} The social classification of Varma was
known to Sangam poets.

(¢} Sangam poems have no reference to

(d) Sangam literature refers to magical
forces as irrational,

(41 -A)

#4. “Yogavisistha” was translated into Persian by

Nizamuddin Pantpati during the reign of :

(al  Akbar

(b Humayun
{e) Shahjshan
dl  Aurangzeb

The world's seeond tallest statue in sitting
pose of Ramanuja was inaugurated by the
Prime Minister of India at Hyderabad
recently. Which one of the following

statements correctly represents the teachings
of Ramanuja 7

{a] The best means of salvation was
devotion.

ib) Vedas are etemal, selfiexistent and
wholly authoritative,

te} Logieal arguments were essentisl
means for the highest bliss

(d} Salvation was to be obtamed through
mescitation.

The Prime Minister recently inaugurated the
new Circuit House near Somnath Temple at
Veraval. Which of the following statoments
are correct regarding Somnath Temple 7

1. Somnath Temple is one of the Jyotirlings
shirines.

2. A description of Somnath Temple was
given by Al-Biruni.

4. Pran Protishtha of Somnath Temple
(installation of the present day temple)
was done by President 5. Radhikrishnon.

Select the correct answer using the code given
below :

ia)l 1 and 2 only
b) 2and3only
(¢ 1 and3 only
) 1,2and3
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7. Which one Ilf the following statements best | 99,
. describes the role of B cells and T cells in the
human bedy 7

(8) They protect the body from
environmental allergens,

{bi  They alleviate the body's pain and
inflammation.

ie) They act as immunosuppressants in the
body.

{d} Thaey protect the body from the disesses
caused by pathogens,

#8. Consider the following statements :

1. Other than those made by humans,

nanoparticles do not exist in naturs,
T,

2.  Noanoparticles of same metallic oxides
are used in the manufsciure of some
eosmielics,

3. Nanoparticleas of some commercial
products which enter the eovironment
are unsafe for humeans.

Which of the statements given above is‘are
correct 7

ia}l 1 only
ib) 3 enly
fe} land?2

id) 2and3
VGYH-LU-FGT (43-4)

Congider the following statements :
DNA Barcoding can be a tool to:

2

aszpes the apge of & plant or animal,

distinguish among species that look
alilce.

identify undesirable animal or plant
materigls in processed foods,

Which of the statements given above islare

correat T

(a) 1only

(bl 3only

e} land2

(d} 2andd

Conzider the fallowing :
1. Carbon monoxide
2, Nitrogen oxide

4. Ozome

4.  Sulphur diexide

Excess of whith of the above in the
environment igfare cousels) of acd rain ?

L

b}

L

(d}

1,2and 3
2 and 4 only
4 only

1, 3and 4
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